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Match #30


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
THIS IS A COMPUTATION QUESTION. What is the molecular mass of phosphoric acid, a chemical with formula H3PO4, if you remember that the molecular mass of phosphorus is 31?

ANSWER:
98
2.
As a verb, this four-letter word means to go through an intense longing, such as for an ex-girlfriend or for an absent family. What is this word that as a noun refers to a genus of evergreen trees that have needle-shaped leaves? 

ANSWER: pine
3. 
Its layout along the Neva River has led it to be called the Venice of the North.  Senate Square features a statue of the city's founder, and the Winter Palace has been converted into the Hermitage Museum.  Site of the 32nd G8 meeting in July 2006 is what city, established by Peter the Great as his "window on the west" and known for a time as Leningrad?

ANSWER: Saint Petersburg
4.
It is the only territory of the United States that drives on the left side of the road. It lost money for the original owners, the Danish, after slavery was abolished in 1848. By 1917, the US feared it might be used by Germany as a submarine base, and Denmark agreed to sell it to the US for $25 million. What islands to the east of Puerto Rico include Water Island, St. John, St. Thomas and St. Croix? 

ANSWER: U.S. Virgin Islands
5.
When executed, it provides the object code, as well as making sure the program sticks to its syntax. Name this type of program that creates an executable file by translating the high level language into assembly or machine language.

ANSWER: Compiler

6. 
It was established in 1979 by Jimmy Carter, and first responded to the Love Canal and Three Mile Island incidents.  It was elevated to cabinet-level status by President Clinton, and absorbed by the Department of Homeland Security after September 11th.  What federal agency was criticized for failing to give Virginia residents any aid following Tropical Storm Ernesto and praised by President Bush following Hurricane Katrina, telling a former director that he was "doing a heckuva job?"

ANSWER: Federal Emergency Management Agency (or FEMA)

7.
What type of polygons make up the faces of a regular dodecahedron?

ANSWER:
pentagons

8.
In amorphous form, this trivalent metalloid is a brown powder, but in metallic form is black.  Name this element with average atomic mass 10.81, atomic number 5, and symbol B.

ANSWER:
boron
9.
His original name was “John Oldcastle.” The Hostess mentions his death in Act II, Scene III of Henry V. In Henry IV, parts 1 and 2, he is a fast companion to the young Prince Hal, who calls him “my old lad of the castle.” What Shakespearean knight serves mostly as comic relief in The Merry Wives of Windsor? 

ANSWER: Sir John Falstaff
10.
It was originally a Division within the Patent Office, but achieved full department status in 1862 and full Cabinet status in 1889. Past secretaries include Michael Espy and Ann Veneman (veh-NEH-man). The Cooperative Extension Service, which runs 4-H clubs, and the Forest Service are part of what Cabinet Department that deals with farming?

ANSWER: United States Department of Agriculture
11.
In 1976, his regime classified people into three categories: “base” people, candidates and depositees. He figured that only two million people would be needed to create his agrarian utopia. A year later, relations with Vietnam began to deterioriate, and in 1979, he was overthrown. The “killing fields” where some 1.5 million people died occurred under the rule of what leader of the Khmer Rouge?

ANSWER: Pol Pot

12.
By the end of the play, Eurydice (YOU-rih-dih-see) has killed herself, and Haemon (HAY-mawn) has killed himself next to the body of his fiancée. The only member of Oedipus’ (EH-dih-pus) family still alive is Ismene (iz-MEE-nee). Creon ignores the advice of Tiresias and loses his entire family. In what play by Sophocles is the title character caught burying her brother Polynices and then condemned by Creon to be sealed in a cave? 

ANSWER: Antigone (an-TIH-goh-nee)

13.
This country’s state of Acre (AH-kray) seceded in 1903. It lost the Chaco War in 1935, losing access to potential oil deposits. It lost the War of the Pacific in 1883, losing access to nitrate deposits and, more importantly, losing its Pacific coastline. What country, once called “Upper Peru,” has two capitals, Sucré and La Paz? 

ANSWER: Bolivia
14.
During the Nazi regime, he composed replacement music for A Midsummer Night’s Dream, as Felix Mendelssohn’s work was banned.  Later works of his include the operas Antigone (an-TIH-goh-nee) and A Play for the End of Time.  Who was this German composer, best known for his cantata based on medieval poetry, Carmina Burana?

ANSWER:  Karl Orff

15.
A spring and a pendulum both undergo what type of periodic motion abbreviated SHM?

ANSWER:
simple harmonic motion

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What Interstate joins Interstate-81 for about 15 miles around Wytheville, Virginia? 

ANSWER: Interstate 77 or I-77
1B.
What cell organelle is known as the powerhouse of the cell, due to cellular respiration occurring there?

ANSWER:
mitochondrion or mitochondria
2A.
What Jewish holiday is ten days after Rosh Hashanah and is the highest holy day of the Jewish year?

ANSWER: Yom Kippur 

2B.
THIS IS A COMPUTATION QUESTION. What is the tangent of pi radians?

ANSWER:
zero
3A.
THIS IS A COMPUTATION QUESTION. What is the greatest common factor of 120, 90, and 210?

ANSWER:
30
3B.
Who was arrested on the island of Hispaniola by Francisco de Bobadilla in 1500 and stripped of his titles, including Admiral of the Ocean Sea? 

ANSWER: Christopher Columbus
4A.
What book, the first of the Once and Future King series by T.H. White, is loosely based on how King Arthur became King of England?

ANSWER: The Sword in the Stone
4B. 
Which competition, held during All-Star Weekend, did Michael Jordan and Dominique Wilkins win twice each, as well as five-foot, seven-inch Spud Webb in 1986?

ANSWER:  NBA Slam-Dunk Contest (or NBA Slam-Dunk Competition)

5A.
How many up quarks are in a proton?

ANSWER:
two
5B.
What ten-letter word from German can be used to describe someone who achieves a great deal of success at an early age?

ANSWER: wunderkind
6A.
THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix with top row of 6 and 3 and bottom row of 3 and 5?

ANSWER:
21
6B.
While Jonas Salk developed the polio shot, who developed an oral vaccine for polio?

ANSWER: Albert Sabin
7A.
Who ruled England between 1553 and 1558? 

ANSWER: Mary I (accept Bloody Mary, but NOT Mary Queen of Scots)

7B. 
What film starred Dustin Hoffman in his first major role as Benjamin Braddock, who has an affair with Mrs. Robinson, played by Anne Bancroft?

ANSWER: “The Graduate”

8A.
What extinct hominid is named after a valley in Germany?

ANSWER:
Neanderthal
8B.
His son Hor-Aha succeeded him as pharaoh. Who is believed to have unified Egypt, ending a process started by King Scorpion and Narmer? 

ANSWER: Menes (MEH-nehs) (some sources list Narmer and Menes as the same person)

9A.
What novel by Anna Sewell has the subtitle, “The Autobiography of a Horse”? 

ANSWER: Black Beauty
9B.
What two Latin words, translated as “In the Year of Our Lord,” are behind the abbreviation “A.D.”?

ANSWER: Anno Domini (ah-NOH daw-MEE-nee)

10A. 
Which outgoing Washington Nationals manager also hit 586 home runs while playing for both the Cincinnati Reds and the Baltimore Orioles?

ANSWER:  Frank Robinson 

10B.
THIS IS A COMPUTATION QUESTION. In simplest terms, what is 3/5 times 5/9 times 3/8?

ANSWER:
1/8
Third period, 15 toss-ups, 10 points each

1. 
They likely originated from the ancient Greek story of a King of Arcadia who offered a child’s flesh to Zeus as a gift.  Zeus responded by turning this king, Lycaon, into an animal.  In the Middle Ages epileptics sometimes were forced to confess to being what canine creatures that are killed by silver weapons and are transformed during a full moon?

ANSWER:  werewolves

2.
This poet wrote the lines, “I speak in the name of the black millions / Awakening to action,” “The singer stopped playing and went to bed / While the Weary Blues echoed through his head” and “Maybe it just sags / like a heavy load,” in his poems “A New Song,” “The Weary Blues” and “Harlem.” What poet also asked the question, “What happens to a dream deferred?” 

ANSWER: Langston Hughes
3.
The Viking sagas of the New World called it “Helluland,” (hel-LOO-land) which means “land of flat stones.” The Hudson Strait separates it from Quebec. Davis Strait separates it from Greenland. The capital of Nunavut, Iqaluit (ee-kah-LOO-eet), is located on what largest Canadian island? 

ANSWER: Baffin Island

4.
This word is said, for the first of six times, in response to the question, “Tell me what thy lordly name is on the Night’s Plutonian shore?” It is the one-word reply to the pleas, “Take thy beak from out my heart, and take thy form from off my door!” and “Quaff, oh quaff this kind nepenthe and forget this lost Lenore!” What is the only word uttered by the title character in Edgar Allan Poe’s “The Raven”?

ANSWER: (Quoth the Raven) Nevermore 

5. 
There are a grand total of four, two in each hemisphere.  Created by the interactions between Hadley, Ferrel and polar cells, they are driven eastward by the Coriolis force.  Found just below the tropopause and around 30 and 60 degrees latitude are what bands of air that can move at up to 275 miles per hour, and are named due to the effect they have on air travel?

ANSWER: jet stream
6.
The name of this part of speech comes from Latin words that mean “throw between.” Words such as “Sorry!”, “Yikes!”, and “Wow!” are examples of what part of speech?

ANSWER: interjection

7. 
Several dozen of these on the Northern Neck of Virginia have gone dry due to population expansion in Maryland, lowering the water table.  Extensive water usage has lowered pressure in certain aquifers so that water will no longer flow to the surface without pumping, in a specific type of well known as what?

ANSWER: artesian well (prompt on an early buzz of "well", incorrect after well is mentioned)

8.
In 1864, several of his men were hanged in Front Royal in an act of frustration at his ability to operate behind enemy lines. He never surrendered to the Federals, but instead disbanded his unit in 1865 near the town of Marshall. What “Gray Ghost” of the Confederacy commanded, between 1863 and 1865, a Northern Virginia partisan force known as the “Rangers”? 

ANSWER: John S(ingleton) Mosby
9. 
Rookies on this team’s 2006 roster include kicker Stephen Gostkowski, wide receiver Chad Jackson, and running back Laurence Maroney.  Another receiver, Deion Branch, was traded to the Seattle Seahawks, making the offense a challenge for coach Bill Belichick.  Identify this three-time Super Bowl-winning team, led by Tom Brady at quarterback.

ANSWER:  New England Patriots (accept either)

10.
THIS IS A COMPUTATION QUESTION. Reduce 126/540 into a fraction of simplest terms.

ANSWER:
7/30
11.
This novel’s supporting characters include Faye, the local brothel’s madam and Samuel Hamilton, a longtime resident of California’s Salinas Valley. The villain is Cathy Ames, who burns her parents to death, poisons Faye in order to take over the brothel and shoots her husband, Adam. The struggle between Cathy’s twins, Cal and Aron, and between brothers Adam and Charles Trask, makes the plot of what John Steinbeck novel?

ANSWER: East of Eden
12.
Much like mangroves, this tree known as Taxodium (tak-SOH-dee-um) distichum (dih-STIH-kum) usually lives in the swamp.  Name this state tree of Louisiana, a deciduous type of cypress that has something in common with Yul Brenner or Patrick Stewart.

ANSWER:
bald cypress (prompt on “cypress” and accept swamp cypress before “swamp” is said.)

13.
The presence of amyloid beta and tau proteins in the brain is the physiological sign of this disease, which worsens when neurons are then “strangled” by the buildup of those proteins. The most common cause of old-age related dementia is what disease whose first symptom is short-term memory loss? 

ANSWER: Alzheimer’s disease

14. 
Twenty-three years after this painting was completed, the artist made a sequel, showing the disintegration of the work into rectangles.  Reportedly, Camembert (CAM-em-bear) cheese was the inspiration for the melting watches in what famous 1931 Surrealist painting by Salvador Dali?

ANSWER:  The Persistence of Memory
15.
This word comes from Greek words meaning “ruling messenger.” Eastern Orthodoxy believes there are seven of them, while some Protestants believe there is just one. Satan is sometimes considered one of what class of heavenly beings whose chief members are Gabriel and Michael?

ANSWER: Archangels (do NOT accept or prompt on “angel”, as “ruling messenger was mentioned” early on in the question)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
In his 1950 work War or Peace, he argued against the strategy of “containment,” favoring a strategy of “liberation.” While his younger brother Allen was director of the CIA, he served as Secretary of State under Dwight Eisenhower between 1953 and 1959. Who lives on in the name of an airport to the west of Washington, D.C.? 

ANSWER: John Foster Dulles
2.
From the Greek for single opening, its only living examples are the echidnas (eh-KID-nuz) and the platypus.  Name this term for egg-laying mammals.

ANSWER:
monotreme
3.
A pastor and his family are headed for Port Jackson, Australia, and get shipwrecked in the East Indies. They land on an island that has kangaroos, penguins, buffalo and elephants. Somehow the pastor knows animal husbandry and agriculture, allowing the family to build a treehouse and thrive. They refuse to leave at the end of the novel. Johaan David Wyss wrote what novel set on the island of “New Switzerland”? 

ANSWER: Swiss Family Robinson
4. 
The back page of this magazine features three recurring articles:  “Stupid Questions” with various celebrities; commentary by Stephen King entitled “The Pop of King”; and “The Great American Pop Culture Quiz”.  Published by Time Inc. since 1990, what is this magazine devoted to movies, TV, music, and books?

ANSWER:  Entertainment Weekly
5.
What symbol is used to represent factorial?

ANSWER:
exclamation point
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

